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1 eqtQ~Qjuxj eqtQ~Qjuxj xaxk unh 2502 'kqdz rky 8.90 1.7 130 90 S
2 xkft;kckn xkft;kckn xaxk unh 1062 x<+eqDrs'koj Mkmu LVªhe 

xaxk 8.42 1.78 550 270 S
3 cqyUn'kgj cqyUn'kgj xaxk unh 2488 viLVªhe vuwi'kgj 8.20 4.2 440 210 S
4 cqyUn'kgj cqyUn'kgj xaxk unh 2489 MkmuLVªhe vuwi'kgj 8.30 3.9 350 120 S
5 cqyUn'kgj cqyUn'kgj xaxk unh 1145 jkt?kkV Mkmu LVªhe 

ujksjk 8.10 3.7 470 200 S

6 cqyUn'kgj cqyUn'kgj xaxk unh 2490 dNyk?kkV] cnka;w 8.20 3.6 410 130 S
7 dkuiqj dUukSt xaxk unh 1063 viLVªhe dUukSt 9.20 3.1 4300 2500 US
8 dkuiqj dUukSt xaxk unh 1066 MkmuLVªhe dUukSt 9.00 3.8 6300 3400 US
9 dkuiqj dkuiqj xaxk unh 1146 fcBwj]dkuiqj 9.90 3.1 3800 2200 US

10 dkuiqj dkuiqj xaxk unh 1067 viLVªhe dkuiqj 8.80 3.5 5800 3100 US
11 dkuiqj dkuiqj xaxk unh 1068 MkmuLVªhe dkuiqj 7.80 6.4 84000 27000 US
12 jk;cjsyh jk;cjsyh xaxk unh 1147 MyeÅ] jk;cjsyh 8.40 3.8 7900 5400 US
13 jk;cjsyh çrkix< xaxk unh 2498 dkykdadj 8.50 3.6 7700 5100 US
14 bykgkckn dks'kkEch xaxk unh 2487 dM+k?kkV 8.40 4.1 43000 23000 US
15 bykgkckn bykgkckn xaxk unh 1046 viLVªhe bykgkckn 8.80 3.7 40000 26000 US
16 bykgkckn bykgkckn xaxk unh 1049 MkmuLVªhe bykgkckn 8.50 3.8 41000 27000 US
17 lksuHknz fetkZiqj xaxk unh 2485 viLVªhe foa/;kpy] 

fetkZiqj 8.30 2.6 2400 1400 S

18 lksuHknz fetkZiqj xaxk unh 2486 MkmuLVªhe fetkZiqj 8.00 2.9 2600 1700 S
19 okjk.klh okjk.klh xaxk unh 1070 viLVªhe okjk.klh 8.80 3.0 3100 1700 S
20 okjk.klh okjk.klh xaxk unh 1071 MkmuLVªhe okjk.klh 7.50 3.5 49000 23000 US
21 okjk.klh xkthiqj xaxk unh 1073 MkmuLVªhe rkjh?kkV 7.70 4.6 43000 23000 US
22 okjk.klh okjk.klh o:.kk 

unh
2482 jkes'oj] okjk.klh

8.50 3.3 2700 1300 US

23 okjk.klh okjk.klh o:.kk 
unh

2483 xaxk unh esa feyus ls 
igys 1.80 37.6 280000 130000 US

24 esjB esjB dkyh ¼bZ½ 2497 [kj[kksnk ifjf{kr x<+ jksM] 
xzke dksy NIL 63.0 170000 110000 US

25 dkuiqj dUukSt dkyh unh 1065 dkyh unh] dUukSt
8.90 5.8 7000 3800 US

26 dkuiqj dUukSt jkexaxk 1064 jkexaxk] dUukSt  9.60 6.2 4900 2600 US
27 mUuko mUuko lbZ unh 1361 cUuh ]mUuko 8.20 3.0 3900 2000 S
28 okjk.klh tkSuiqj lbZ unh 2484 tykyiqj] tkSuiqj 8.20 3.5 13000 5000 US
29 lgkjuiqj lgkjuiqj fg.Mu 1357 MkmuLVªhe] lgkjuiqj 0.50 42.0 23000 21000 US
30 xkft;kckn ¼uks;Mk½ 

zxksSrecq)uxj
fg.Mu 1358 MkmuLVªhe dqysljk

NIL 49.0 260000 130000 US

31 esjB ckxir fg.Mu 2496 lj/kuk& cq/kuk jksM] xzke 
cikjlh NIL 52.0 150000 84000 US

32 y[kuÅ lhrkiqj xkserh 1350 viLVªhe lhrkiqj 10.20 2.3 400 340 S
33 y[kuÅ y[kuÅ xkserh 1351 viLVªhe y[kuÅ 8.30 3.2 2700 2200 US
34 y[kuÅ y[kuÅ xkserh 1352 MkmuLVªhe y[kuÅ 1.40 12.0 170000 130000 US

,u0MCyw0,e0ih0 ifj;kstuk ds vUrxZr
mRrj izns'k esa izeq[k ufn;ksa ,ao vU; ty lzksar dh tyxq.krk dk fooj.k

ekg Qjojh&2017 



35 okjk.klh tkSuiqj xkserh 1353 MkmuLVªhe tkSuiqj 7.80 4.3 22000 11000 US
36 okjk.klh okjk.klh xkserh 1072 xkserhunh xaxk es feyus 

ls igys jtokjh] okjk.klh 8.10 3.7 14000 8000 US

37 jk;cjsyh QStkckn lj;w 1354 lj;w ,V v;ks/;k 9.30 3.1 7500 4700 US
38 eFkqjk eFkqjk ;equk 2493 'kkgiqj] eFkqjk 5.80 6.2 58000 28000 US
39 eFkqjk eFkqjk ;equk 2494 foJke?kkV] eFkqjk 4.70 8.2 170000 79000 US
40 eFkqjk o`Unkou ;equk 2495 dslh?kkV] oÙnkou 5.20 7.8 79000 43000 US
41 bykgkckn bykgkckn ;equk 1069 ;equk] bykgkckn 9.00 2.4 15000 9400 US
42 bykgkckn lksuHknz fjgUnck/k 1359 viLVªhe jsuwdwV 7.80 1.5 2400 1400 S
43 bykgkckn lksuHknz fjgUnck/k 1360 MkmuLVªhe jsuwdwV 8.00 1.7 2600 1700 S
44 xksj[kiqj xksj[kiqj ?kk?kjk 2492 cM+gyxat] xksj[kiqj 7.80 3.2 9000 4500 US
45 xksj[kiqj nsofj;k ?kk?kjk 1355 rqjrhiqj] nsofj;k 8.00 2.5 500 250 S
46 xksj[kiqj xksj[kiqj jkIrh 1363 Mkseux<] xksj[kiqj 8.00 2.2 400 250 S
47 xksj[kiqj xksj[kiqj jkIrh 2491 jkt?kkV] MkmuLVªhe 

xksj[kiqj 7.40 4.0 9000 5000 US

48 xksj[kiqj xksj[kiqj jkex<+ 
ysd

1364 jkex<+ ysd] xksj[kiqj
8.40 4.8 9000 4500 US

49 >kWlh gehjiqj csrok unh 1356 csrok] gehjiqj
6.70 3.4 4700 2100 US

50 >kalh yfyriqj xksfoUnlk
xj

1735 xksfoUn lkxj] >kWlh
6.81 3.1 4300 1700 US

51 jk;cjsyh jk;cjsyh >hy 2499 lejiqj >hy],V lyksu 5.50 4.8 8900 5900 US
52 >kWlh >kWlh rkykc 2500 ekfgy rkykc] rglhy 

mjbZ] tkykSu 2.30 72.0 24000 7900 US

53 >kWlh >kWlh rkykc 2501 y{eh rkykc] >kWlh 2.11 85.0 28000 8400 US
*Note-  S = Satisfactory 


